

$$f(x) = \frac{bx+r}{1x+b} = 1x+b \neq 0 \quad x \neq -\frac{b}{1} = a$$

$$f(x) = c \quad b \xrightarrow{-\varepsilon} x+r \rightarrow a = \frac{1}{r} \frac{b}{1} = \frac{1}{r}$$

$$c = \frac{r+r}{1+r} = \frac{1}{r} \quad b = c = \frac{-\varepsilon+r}{1-\varepsilon} = -\frac{1}{r}$$

$$\frac{ab}{c} \begin{cases} \rightarrow \frac{-\frac{1}{r} \times r}{\frac{1}{r}} = -r \\ \rightarrow \frac{\frac{1}{r} \times -r}{-\frac{1}{r}} = r \end{cases}$$

$$f = \{(-1, r), (r, r), (r, -r), (0, 0, d)\}$$

$$\frac{rg}{g+f} = \frac{(r, r), (r, r), (-1, -1), (d, 0)}{(r, 1), (-1, -r), (r, r)} = \{(-1, r), (r, 1), (r, r)\}$$

$$\{(-1, r), r\} \Rightarrow y$$

$$g(x) = \{r, -1), (-r, 1), (a-rb, d)\} \quad f_x = \{r, a), (-r, ra-rb), (c, d), (r, d)\}$$

$$a = -1$$

$$ra-rb=1$$

$$b = -r$$

$$c = d$$

$$d = -1$$

$$d + c = -1 + d = r$$

$$x = \frac{1}{r} \quad 2r + x - m = 0 \quad -2r + x - m \geq 0 \quad m = 0/r$$

$$a+b = \frac{1}{r} + 0 = \frac{1}{r}$$

$$b = 9$$

$$\frac{rx+a}{2r+yx+9}$$

$$\Rightarrow a = 9$$

$$\frac{rx+y}{(2r+y)r} = \frac{r}{2r+y}$$

$$\frac{r}{x+r} = \frac{r}{x-c}$$

$$c = -r$$

$$9+9-r=18$$